%) We Shine Academy”

guiding you to get through

In an examination out of 480 students, 85% of the girls and 70% of the boys are
passed. How many boys appeared in the examinations, if total pass percentage
was 75%

a)320 b) 340 c) 360 d) 370

480 Cumds® BLESOULL BsiTalsd Gussiissist 85% o, syemissiiiso 70%pid
Cxradl Gummesnt. Slmumsumlo CaThm 75% Bsisdl Gump BHewsoulsy BxTey
6TIgAIL GO DIENEETT 6TelcmIhend 616145166

a) 320 b) 340 c) 360 d) 370 |

The sum of two numbers is 216.and their H.C.F. is 27:The numbers are

a) 27, 189 b) 81, 189 c) 108, 108 d) 154, 162

@ slenisais Fnhmdsy 216 Wb s .o eN 27 sreilst, Dib&kh 16101 HsTI
a) 27, 189 b) 81,189 ¢) 108,108 d) 154, 162

Find the compound interest on Rs.8,000:at 15% per annum for 2 years 4 months,

compounded annually.

a) 3110 b) 3109 c) 3106 d) 3108
m-8,000 & SyeignEg 15% aly sldsssst 2 el whnw 4
LOTHHBHIBHTEI. EnL@ B sDUl HeibaBE

a)3110 - b) 3109 c) 3106 d) 3108

Find out the wrong number in the series

190, 166, 145, 128, 112, 100, 91

a) 100 b)166 c) 145 d) 128
OiaThaalul L GHTLfed DMohE SHIMTEA TaeNEINS SIS
190, 166, 143, 128, 112, 100, 91

a) 100 b)166 c) 145 d) 128

A can do a piece of work in 10days. B can do it in 15 days. How much does each
of them get if they finish the work and earn Rs. 1,500?

a) Rs. 700, Rs. 800 b) Rs. 500, Rs. 1,000

c) Rs. 600, Rs. 900 d) Rs. 800, Rs. 700

A @m Cawsmevsmitl 10 BT &Heflanb, B osnad 15 mmssiann, GEdig apigli.
Bimeumpid Cximhaml suBsusmeveniud Glalisl m.1.500m mlgmimsy, nH6ETemSmW
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sreueunmy LfiGamis Gsmsear?
a) m.700, ¢m5.800 b) &m.500, ¢m,1.000
c) 1.600, @.900 d) 15.800, an.700

H.C.F. of two numbers is 8, Which one of the following can never be their L.C.M?
a) 24 b) 48 c) 56 d) 60

Eim aemrseien W.GUTe § aeillsy BDdHOML_UTMIET 615 DIHE 6TemlHerls0
WB.oure =15 Boss Blusurs?

a) 24 b) 48 c) 56 d) 60

The H.C.F. of 2*x 32x5°x7, 2°x3%x5%x7?% and 3x5x7x11 is

a) 105 b) 1155 c) 2310 d) 27720
2x3'x5°x7, 22 x3* x5 x 72 wipnd 3x5x7x 11— WBLGLEH Wiy
a) 105 b) 1155 c) 2310 d) 27720+

The smallest fraction which should be subtracted from the sum of'.‘i-—.iﬁ k 2%

1 1 ;
35 and 2 S to make the result.a whole number is
5 7
agﬁl o b)'i—z'_l C]E d)7
12 25 550 3 whmn 2;619!13] Usirenmtamssiiso. sl b Gamens @m wWp
GTaMIemTTES S5 b5 WasFfnu Lswmsmnss siss Caanpo

5 7 =i

If x% of y is equalt® z, Then what percent of z is &7
y? : v 100 1002
a) 100 7 b) 1002 c| y d) y
y &l X% FHABOTNH Z HG FWID 60 X LS Z-60 STHHMSN FHIHD?
]ﬁ - b) Y ]ﬂ d)_moz
4 100 1002 < ¥ y

Volume of the cube = cubic units.

a) a® b) V2 a? c)3a®

HEN FHRITHFHEA HEM DYETEY| = ———meee HEN DUEVEBAIT

a) a’ b)v2a? c) 3a®

For a triangle ABC, the true statement is

a) AC*=AB? +BC? b) AC= AB+BC

c)AC > AB+BC d) AC< AB +BC
(w&EGsTemmb ABC uley 61& 2 _emienD sUTHSHIUID siand daml
a) AC? = AB* + BC? b) AC = AB+ BC

c)AC > AB +BC d) AC< AB +BC
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Two taps can fill a tank in 30 minutes and 40 minutes. Another tap can empty it in
24 minutes, If the tank is empty and all the three taps are kept open, in how
much time the tank will be filled?

a) 1 hour b) 2 hour c) 3 hour d) 4 hour

M GETiysuw Bm Hurnlse Senhsancuw wenpBu 30 Bubl mssh, 40

WL msaTlsh BHriusinsl. wnbnrm @omil BT mirnodo Gemiigenu 24

B misailsy &rsd GFlun. Gam iy sreiurs BiHhs Dbapsim GLTLSEHD
@Cr FwwsHdHsd Hmbha LU LT, shHeme e GHTHHlien BHiyibyn?

a)l wemi b)2 e ¢) 3uwosnfl d)4 wenfl

Ifx:y=5:2thenfind8x+ 9y :8x +2y

a)22:29 b) 26: 61 c)29:22 d) 61:26
X:y=5:2 gigneh 8X + 9y + 2y — & smemm .
a)22:29 b) 26:61 c) 29:22 d) 61 :26

In a simultaneous throw of two dice, what is the probability efgettingia total of 7

a) 6 12 36 4

@0 LSl @@y GCrysSar & mi Bib LTy & [H, Gatams 7 smashG

2 flw Hsbssa g
1 7 - 1

b) ® oy d) 5

B C ’
= —.-é-then find A:B:€C

b) 51443 c)3:4:5 d)20:15:2
stafls0 A TBIC smem
' b)5:4:3 €)3:4:5 d)20:15:2
The sum 6f two numbers is 45. Their difference is é of their sum. Their L.C.M. is
a) 100 b) 150 c) 200 d) 250
Bim eremetie Fal (B GleTens 45. eedlm semasTen Gaumuml  isuinilsir
aal (hsH Gsiensuisi é WL RISNEGHD sl eyeuim sediismellsh Wadlm waly
a) 100 b) 150 c) 200 d) 250

If £% of a is the same as y% of b, then find z% of b

a) %'-% of a b) {fz% of a c):—;% of a d) None of these
a—eit X% eeilgkl b s Y% M@ #Fwlo slaisy b-sii 2% msmin

a) a-6i -E:-% b) a-en %% c) a-ai g—;% d) sizteyillsuemsn
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Solve 14 x 627 = V1089 = (?)* + 141

a)5V5 b) (125)3 c) 25 d) 5
Fids - 14x 627 ~1089 = (?)* + 141

a)5V5 b) (125) c) 25 d) 5

What will be the remainder when (67%” + 67) is divisible by 68.
a)1 b) 63 c) 66 d) 67
(67%7+67) aysmal 68 o5v sauGLL LT 15 sraien’

a)l b) 63 c) 66 d) 67

The greatest number which can divide 1354, 1866 and 2762 leaving the same
remainder 10 in each case, is

a) 64 b) 124 c) 156 d) 260

1354, 1866 wmmpio 2762 sydw siamisamsn 165 10 r‘ﬂﬁml_&@[{)rrgjl @aublauTaT B
suGHH@GI BNGLIH  sTe0

a)64 b) 124 c) 156 d)__ 260'

Area of a triangle is

a) base x height b) % x base x height c) 2x.base x height d) % ( base x height)
(L ECHTaM&H SIS LITLILIETE)

a) SlILSED X 2 WD b} = SIQLILIGHID X 2 Wiyid

€)2 X augludssld X o gD d)—f,gnguJuaaEw + 2 lFID)

From the solid cube'having side of 20cm, how many number of small cubes
having side 5¢m can be formed?

a)46 b) 64 c) 56 d) 48

20 QFif Uss siete] OETail S sSa F&T o HUSHHHE. sTHHme
O ubs Emey berem. £m H S FHIHSmsT 2 HaTsssunn?

a) 46 b) 64 c) 56 d) 48

The following circular graph shows the amounts that a family spends on food,
clothing, rent, miscellaneous expenditure and savings.
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Rent 72°

Cloths 72°
" Miscellaneous 72°

If the annual income of the family is Rs. 60000, then the savings are :

a) Rs. 3000 b) Rs. 6000 c) Rs. 7500 d) a) Rs. 9000
FOd GOHUUILUUL (Hesm sul L sushIUL LOTENEHI 1) GBOUSSTT 26wy,

2 L, sufLens GFsuassit wpmnb G il Glesve) GFlesnss GUUIGSBH

Rent 72° Food

KN
) ¥ ZJ\#_,

Cloths 72° ~

Miscellaneous 72°

a) Rs. 3000 “b) Rs. 6000 c) Rs. 7500 d) a) Rs. 9000

Find the:number which when multiplied by 15 is increased by 196?

a)i4 b) 20 c) 26 d) 28

@m seml 15 60 Gumsslufpn Gumiwasl 196 yFlewndns swilst bHb
STallenEmId BTN

a)i4 b) 20 c) 26 d) 28

3 3 2 z
. ¥ w4+b a<— b
Simplify : 424 2ab+ b2 . a—h

a)a’?— ab+ b? b)a’+ ab+ b? cla+b da=-b
% _ ad4+p3 at—h?
FOEGE © T ab

a)a’— ab+ b? b)a’+ ab+ b* cla+b d)a=b

27. Which term of the series 5, 8, 11, 14, ..... is 3207
a) 104" b) 105" c) 106 64th
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320 sl S, 8, 11, 14 ... siem eufiensulsn sidhsmevenumsig 2 miiy?
a) 104" b) 105 c) 106" 64"

What percent of 60 is 727

a) 80% b) 120% c) 84% d) 65%
60 s sihEHemen FHIHID 72 DH BHHS (WDIQUID

a) 80% b) 120% c) 84% d) 65%

Ram can do a work in 15 days. Rahim is 50% more efficient than Ram.The number
of days, Rahim will take to do the same piece of work is

a)7; b) 10 c) 12 d) 14

TUD seusT @ Beusnsusnil 15 HBALSaTs0 (PSSIMTT, Jamid sweiruesi Jiro
o el 50 % allengsuta (ol aaist, ganfo wl (o seanurs 2165
Gausmevemill 615HHM BT S0 (LPIQUILITT?

a) 7 b) 10 c) 12 d) 14

IfA:B=5:7andB :C=6:11thenA:B:Cis

a)55:77:66 b)30:42:72 c)25:49:42 d)30:42:77
A:B=5:7GwenbB:C=6: 11 aame0 A : B : Csit ADSIIL

a)55:77:66 b)30:42:72 c)25:.49: 42 d)30:42:77

170% of 1140 =7

a) 1938 b) 1824 ~ c¢)1968 d) 1881
1140 — 6b 170 % aisiieu 6|2
a) 1938 b) 1824 c) 1968 d) 1881

If the sum.ofanumber and its square is 182. What is the number?

a)15" b) 26 c)28 d) 13

@ CTESMIL &0l ZHH5 UTHEBHMBDS Tl ReTe0 182 BHenLHHIBEH 6lalsd b
o1emn  WiTEy?

a) 15 b) 26 c) 28 d) 13

What is the HCF of a?b* + 2a?b? and (ab)” — 4a’b®?

a)ab b) a?b? c) a®h? d) a’b?
a’b® +2a’b?, (ab)’ —4a’b® sEu aemmeder . Gumes (HCF) srsiren?
a)ab b) ah? c) a®b? d) a’b?

The H.C.F. and L.C.M. of two numbers are 84 and 21 respectively. If the ratio of
the two numbers is 1 : 4. Find the larder of the two numbers.
a) 12 b) 48 c) 84 d) 108
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Eum asorssisn W.GUT.en whpin W.6LT wpsmpCu 84, 21 oibhs eswisst 1
4 aisbiy oNldlHSHHe0 emnbaleiiscl, elsllst euidist LU sissl slg?
a) 12 b) 48 c)84 d) 108

Find the area of a semi circle of radius 28cm.

a) 144 cm? b) 1220 cm? c) 238 cm? d) 1232 cm?
24Th 28 Gl o sy e Al LSS LUFLILIGTE SHTem

a) 144 #06=.8 b) 1220 &.G&.f c) 238 #.GlF.8 d) 1232 #.05.18

. e [(B61 x 561)— (31 X 31°
Simplify |( .":}30( j

a) 530 b) 561 c)31x31 d) 592
(561x561)— (31x31)

530
a) 530 b) 561 c)31x31 d) 592

FHBEGHS

Ifa:b::3:5andb:c::7:2thena:b:cis - N
a)3:35:10 b)21:35:10 c)21:5:10 d)21:35:2
a:b::3:5wmmp b:c::7:.2 siaisy

a)3:35:10 b)21:35:10 c)21:5410 d)21:35:2

The ratio of 9 months to 1 yearis
a)2:3 b)3:4 c)4:5 d)5:6

90 AUGLEHE 9 wisneidyMEssms oGy
a)2:3 b)3:4 c)4:5 d)5:6

If three numbersare 2a, 5a, 7a, What will be their LMC?

a)70a : b) 65a c)75a d)70a?
Dy SUHLHHE 9 WisRsaiar aldsnims sabily

a)70a b) 65a c) 75a d)70a’

A trader buys an article for Rs.1,200 and marks it 30% above the C.P. He then
sells it after allowing a discount of 20%. Find the profit percent.

a) 5% b) 4% c) 4% d) 6%

@m alwnumll gm Gutmensn 51200 ammSamT. e DS i EHameHH
Busv 30 % »Nies almewds 20 % Hetsmuy Gethadprr. albn alsmeuuie
somnn % eGreiten’?

a) 5% b) 4%% c) 4% d) 6%

12men can do a piece of work in 24days. How many days are needed to complete
the work, if 8men do this work?
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a) 28 b) 36 c)48 d) 52

@@ Cousneusnil 12 wealETHaT GFThadl 24 HIL &6 (WpIpHaEsmaT. 28%H
Gausmeuamil 8 wel&THEsT BFTha (PHs sihHHemen BT H6T GO

a) 28 b)36 c) 48 d) 52

The G.C.D. of a®b*, ab®c?, a’b’c.

a) ab* b) a?b* c)atc d) a’c*
a’b?, ab’c’, a’b’c — s B.GuT.a — BTBOTLIERI

a) ab* b) a®b* c)a*c d) a*c*

Simple interest for an amount is Rs.120 at 6% per annum for two years. What is
the amount, if the simple interest is Rs.90 at the same rate of interest for 3years?
a) 1000 b) 1500 c) 500 d) 750

RH OHTMEDHE, 6% Il aissHHe0 2 UaNbHEEEE HeM sullg ff.120
S@ma S16H aly sssgih (wWwam AHBHEHDHE St g 90 eelish
GlBTEmaS  FEIRIGTTR =

a) 1000 b) 1500 c) 500 d) 750

15 . :
— , find the value of ——
16 p cs+a= h 5
€)= d) =
24 25 25
LOMmILD 2 = aTaatlen S @1 Lo LILIsN
| - == ™o i
no c 16 o4 cEpa2 . gl 4
d) —

& .
P)2s 2 7=

cZ 2

The numberdivisible by 9 is

a) 18736804 b) 83360715 c) 44679013 d) 14681439
9 FIGHY | CTENISTITEY AUEGLIL & Falglll GIEw

a) 18736804 b) 83360715 c) 44679013 d) 14681439

A 4cm . cube is cut into 1cm. The total surface area of all the small cube is
a) 96 cm? b) 24cm? c) 384cm? d) 284cm?

4 Q.8 2 mLw s gmywnnig 1 Gl 2 emiw FAfu sl &aIHEeTS
Geu LpEBal eraiee Fflul sen Fmpmsaiear Gordss uyiny wirg?

a) 96 Qa0 b) 24 Q&5 b) 384 Q&.ap? d) 284GF 10°

(171 % 1713—(69 x 69)]
240
a) 102 b) 240 c) 171 d) 69

Simplify [

(171X171)— (69%69)
240

F(HHGHS
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a) 102 b) 240 c) 171 d) 69

Find the L.C.M of 72, 108 and 2100

a) 37,800 b) 2,100 c) 36,600 d) 28,400
W.Gumw sredr. 72, 108 wmmup 2100

a) 37,800 b) 2,100 c) 36,600 d) 28,400

If 20% of A = B and 40% of B = C then find 60% (A + B)

a)30%of C b) 60% of C c) 75% of C d) None of these
A-6it 20 % = B wimib B-sit 40%=C sralst [A+B) —d 60% sremir

a)C-st 30 % b) C-6it 60 % c)C-qn 75 % d) eigiapdsbenso

A rational number is such that when we multiply it by -Eand add Eto the product
we get - 17—2 What is the number?

3 3 1 5 ¥
a)—i b)i ; CJE d)-z )
@ eSS DmI STERIEN6T E - 60 blumss aumd blLghsBHLoaN 6 -3- o 3
Fal_ 1) GIT 60 -1% a§1mL$@ﬁ;mmﬁeﬁ Sisi6la & (1P sTaRT GBI

3 3 1 1
a)-3 b) 3 €l d)- 5

10.756 % %I is equivalentta
a) 18.9% b)37.8% c) 56.7% d) 75%
10.756 X EJ@@ gLowmen sl 61517

a) 18,9% b) 37.8% c)56.7% d) 75%

In how many years will a sum of money double itself at 18.75% per annum
simple interest?

a) 4 years 5 months b) 5 years 4 months

c) 6 years 2 months d) 6 years 5 months

AIMLASHME 18.75% aaim aramwl sl iy aldiaHden, OBTanBULITENS] 615HF N
RUHLAISETE0 BT imgn?

a)4 suHLMIBE 5 IDTEMIBET b)5 eumLmEsT 4 LWOTHMEBET

C)6 GUBLAIFHST 2 DTHBEIHE d) 6 suLmEET S OTHHIBEN

56. Inan equilateral triangle whose side is 3v/3cm, the length of its altitude is
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a)4.5cm b) 5.5 cm c)10.3 cm d) 8.6 cm
DM FULSS (IWECHTEHHN LHS ise) 3V3 Gl s S\Ho
GHBITHBH DT SIS

a)d.s Gs.f b)5.5 Gs.d c) 103 Gzl d) 9.6 Ga.d

Among the four answers figures, which can be formed from the cut-pieces given
below?

d)
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SIpHeRI BTG slenl_daren L mbsisy Zbs Brene Gal Lo s
FHiewi(hBenen GUTMHASHOT 61&H FHLUTE [BHEEH0T7

A hemisphere and a cone have equal bases. If their heights are also equal, than
the ratio of their cured surfaces will be

a)l:2 b)2:1 c)1:v2 d)v2:1

R 2E0TECHTNUPD, Fbd @61 Dliusshoms GlETanihersner. ieumnie
S _JIplD FolD 6TaNey summien susnemUTULIET sliElHIL sTeTan !

a)1:2 b)2:1 c)1:V2 d)v2:1

5.\'

If it 1, thenx is equal to

a)5 b) 2 c)0 d)3
= =1agied xeil wHL @S
a)5 b) 2 c)0 d)3
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60. A certain sum of money amounts to Rs. 10,080 in 5 years at 8%. Find the principal
a) Rs. 7,200 b) Rs. 7,000 ¢) Rs. 6,200 d) Rs. 7,300
M GUUILL Gsrsnswmsng §% 'y aisshsHs 5 ysmihssisy m.10,080
SLBME. DIFMEVEH SIS
a) Rs. 7,200 b) Rs. 7,000 c) Rs. 6,200 d) Rs. 7,300

X and Y and Z can independently complete a piece of work in 6 hours, 4 hours
and 12 hours respectively. If they work together, how much time will they take to
complete that piece of work?

a) 3 hours b) 5 hours c) 6 hours d) 2 hours

XY, Z saigsatCu @m Casnevenwl (ppds 6 waelBryn, 4 weelGrrn, 12
LoeIBHID sThHmd blemsisliament. (oamD Gaibal i6uEausnsvemLLl @Lgl&,&,
sTsusuasy GmHre sihHme Olamsisu?

a)3 b)5 c)6 d) 2

HCFof c2 — d?, ¢* — cd o
a)c+d b)c-d c)c? —d? d) c(c—d)
c?—d?, ¢ —cd—sit 18.Gume

a)c +d b)c-d ¢) 2’ d) c(c —d)

The product of two relatively prime numbers is 35. Their LCM is
a1 b) 8 T J c)35 d) 15
QETMISOISTNDG LIST 61501 Hermen  @\Tsnih semsaisn GUmsHsy GHTams 39
stafiist immplen WFEFm Qurs wLrie

“b) 8 c)35 d) 15

__—2 3:5,thenx: y:zis
b)6:10: 15 €)5:3:2 d)15:10:6
c 305 @il X1y:izZ
b)6:10: 15 )5 :3 2 d)15:10:6

Find the volume and surface area of cuboid 16m long, 14m broad and 7m high
a) 1568m3, 868 cm* b) 1560m?, 864 cm?

c) 1460m3, 860 cm? d) 1320m?, 850 cm?

16 1f Bemupn, 14 18 si@soupin, 7 f = wgupld Oereml SeaFaysHdlen e
2ieTe LpOID Lgiy SewiBLly

a)1568 1%, 868 Q.1 b) 1560 1f°, 868 GF.f”

c) 1460 £, 868 Glg.f’ d) 1320 1, 868 Q.

66. Ais twice as good a workman as B and together they finish a piece of work in 14
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days. In how many days can A alone finish the work?

a)11 b) 21 c) 28 d) 42

A ereiiLicut B— el ST BYHLLmIs Fpluns Gemeusnil Gaula.
Bmeumpd CFhaml 2ihd Gausnsusmiul 14 BT S6T60 APQLILITTSsT. sTanBan A
W (B 2AHH Cosamsvenl (1PRHS CTHSGMET EHTL B SH@GLW?

a)11 b) 21 c) 28 d) 42

If @ isdefinedasx @Y= x%+2y,find the value of P if 4@ (3 @ p) =50

a)4 b)7 c)8 d) 12.5

D o Gawewnens X@ y=x +2y oo asyumpssiulf 4 @ 30
p) = 50 aend GETRESEIULLT, p—& WS ST

a)a b)7 c)8 d) 12.5

Find the missing number in the following :

3 |15

e a
7

a)5s b) 12 : c)13» ¢ d) 26
0w Glemhdsin L aummis eAhul L | sTeliens s  Hens:

—

11
?

3 |15

a)s o b) 12 c) 13 d) 26

The largest 4 — digit number exactly divisible by 88 is

a) 9944 b) 9768 c) 9988 d) 8888
88 — 60 su@uULS mmiguwl Wl blufiul BIaE Gleoss se 6157

a) 9944 b) 9768 c) 9988 d) 8888

A is B’s brother, C is B’s Father, D is Father. Then A is -------—--—--——--0f D.
a) Grandmother  b) Grandfather c) Son d) Grand son
Aaeiuaut B a1 F6smmgen, C asiueu B ullel shand. D e C ullsi
Hhend elenmmen A eteueu D ullen
a) um'ig b) & asr C) waai d) Guiysir

25 117 33 _

: 11
= == — =7
71, X 5-+[444-5 + 22
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1 2
a) 1; b)g
3 11 25 111 33
== [_ —|+—==
2 5 * 44 - b 15

1 2
a) IE b]g

?

Find the H.C.F. of 108, 288, 360

a) 18 b) 36

108, 288, 360 — s (E.GLT.H &Tem
a) 18 b) 36

What is the next term of the sequence 1, 8, 27, 64, 125,216,

a) 343 b) 412 c) 400

1. 8. 27, 64. 125, 216......... ciehiy GBI Tsll 2UBHH 2 muiny
a)343 b) 412 c) 400 d) 250

b) - _ d) =
et &y WL smem

1 h € 12
b)-3_6- e d) s

. V725 327
Find the value of 55 ggvm
2 _
a) 5 b)?j
725-V77 '
351243388 [
2 ' 3
a)zh b) =

sl m‘@-ﬁu &Tou

Which is the missing number for the following?

a) 26 b) 32 c)36
Shdaosupnlen al(fUlL  GIeRImeITdS HIeH
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a) 26 b) 32 c) 36 d) 117

Sixty — Five percent of a number is 21 less than four fifths of the number. What is
the number?

a) 140 b) 150 c) 135 d) 120

21 eren oremtemien WdHlumengl Sehlilpss Ceaewigul asmiemian 65 snals
WHemL S & 4 Lhssn ohE eemenien WwWaLmU &S6EE ey wHlilbBE& Fon
sTallisy BIhdb stemtenem & (hUly?

a) 140 b) 150 c) 135 d) 120

The sum of money placed at compound interest doubles itselfin 4 years. In how
many years will it amount to 4 times itself? \
a) 12 years b) 13 years c) 8 years d) 16 years

6 Gsmms 4 sl sds sl (f el wuis Gyl 0LkiE SEnmE), g@jﬁ%@] 4
DL MiBNE 6TeususTIo) el Sh&?

a) 12 eugmLLb b) 13 _sumiad c) 8 aumLLD d) 16 ﬁn'@l_w

The sum of the squares of three consecutive natural number in2030. What is the
middle number?

a) 25 b) 26 c) 27 d) 28

apityl DIBEHHHHS EHwsv mmwﬂw ITHEMmSEMT Fnhgmsw 2030. aaisy enLDLl
sTemr 61317

a) 25 b)26 c) 27 d) 28

The mean ofthe S'members is 32. If one of the number is excluded, then the
meaniis.reduced by 4. Find the excluded number.

a)43, b) 48 c) 46 d) 47

5 sissimetienn ggnadl 32, swiblsusniissiicnn @siens BeGn Gursl yrefulsr 4
GHMMH&HN6D HHGOIULT L 6I500169)600 &1 600D

a) 43 b) 48 c) 46 d) 47

Find the simple interest for Rs. 6,750 for 219 days at 10% per annum

a) Rs. 405 b) Rs. 155 c) Rs. 450 d) Rs.350
m.6.370 & 219 Brlisamdsd 10% sy sl Sl suliganilds HTamE
a) @m.405 b) m.155 C) eHA430 d) 15450

Find the value of (4.9)*

a) 24.81 b) 24.09 c) 20.01 d) 24.01
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(4.9)" — waliy s
a) 24.81 b) 24.09 ¢) 20.01 d) 24.01

The difference between compound interest and simple interest on a sum for 2
years at 8% is Rs.768. Then the sum is

a) Rs. 1,00,000 b) Rs. 1,10,000 c) Rs. 1,20,000 d) Rs. 1,70,000
asmaBE 8% aln aldfssissy @Bm syhsersd @ Gereansulst sl ()
QULIQHEGHID FHel s 195 EHUD6TST llHHLITFD .768 aaley DhbHs GHTENS
TG

a) m.1,00,000 b) 5.1.10,000 ¢) @.1,20,000 d) ¢m.1,70,000

Find the value of (256)3

a) 512 b) 984 c) 1024 d) 1032
(256)* — &t WA ETew

a) 512 b) 984 c) 1024 d) 1032

The sum of the first 99 termsof the series = - + + QZ + = +
d) 1

b) 999 ) 9999
100 ; o 1000 € 10000

+og tog + e o GuTUfiE @seh 00 o misafisn smbsst
L g . A
99 o 9999 d) 1

b) ——
1000 10000

Ifx: y=2:1thenx2=338) "(x* + y?)is

a)3:5 by1:3" ¢)5:3 d)3:1
x:y=2:1 6150%'3'(':‘(2—--\(2‘) L (x2 + y?) slsdien?

a)3:5 ' ' b)1:3 ¢)5:3 d) 3:1

Area of circle is equal to the area of a rectangle having perimeter of 50 cm and
the length is more than its breadth by 3 cm. What is the diameter of the circle?
a)7cm b)21cm c)28cm d)14cm

@M sulLSHHsi Lgld, GlessussHslsl SOmeTab FowTs 2 sihengl, Dsvat S0
GlF.1f Glasisusdhdien Hsb DyBevhHme sl 3 GF.6 oHswTs 2 siengl, sellsd
sUL L A sl L 1D slsususiiay?

a)7 Ga.ud b) 21 Gl c) 28 Ga.ad d) 14 Gz.d

What is the area of the given figure?

4 Qo s
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a) 98.8cm? b) 120cm? c) 110.4cm? d) 132.6cm?

UlGTsupie susHuL_S&dlen LFTIUGTa) &iaien ]

4Qs. -1 L

a) 98.8 gay GF.d b) 120 sz GF.f
c) 1104 sz GF.f d) 1326 sy G

A alone can complete a piece of work of Rs.800 in 8 days; but by-engaging an
assistant, the work is completed in.5 days. Find the share te be received by the
assistant F AN

a) 500 b) 300 ¢) 800. d) 600

A asiiuent 1wl Bib 5.800 S@ten @@ GCousgmevenws 8 mredled woplamt. bS5
CorsmaeniLl T @0H 2 ST MabHidh CeTaib 5 Brsis) (1ppHETa
2 HlWTTHHE i CEThss Gaemngu UbiE ssiasTay?

a) 500 b) 300 c) 800 d) 600

15 men take 21 days«of 8 hours each to do a piece of work. How many days of 6
hours.each would 21 women take, if 3 women do as much work as 2 men?

a) 20.days b) 25 days c) 18 days d) 30 days

15 Gufr, pm mrswsns@ 8 wewil Gwyn Geusnsv GFuisl, 21 mHI & @
BanmeuamuF GlEiim (pYESamant aalet @ HTsNM&ESE 6 wenl GETn Galsna
Gaiig, 21 GuaissT assHmen Bl Hais oiHH Caumsvsnl GFUis WplILT.
GmiE 3 Gusbissit, 2oystismenilisn FiowTar Geusnevmit GlFUIES ETHEIT?

a) 20 mim_asi b) 25 i asait c) 18 AL &sit d) 30 [pr_seit

A and B can do a job together in 7 days. Ais 1 % times as efficient as B. The same
job can be done by A alone in

a)9 % days b) 11 days c)12 % days d) 16§ days

A wnmnb B syslusiisst Gaimsm @0 Gaensuenul 7 BTSN (LPdHsIsiimeiT.

’ ; 3 . F 5
A aiehiueuT B = el 1 S LLmiE allenreuTa (LWLt eranse 2iBs GaiensveniLs

A mafluns sthEBENET BT &6Tsn  @piglimm?
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a)o é BIL&E6TT b) 11 BM_&sir c)12 % HTL &6 d) 16 é BTL_S5TT

The perimeter of a equilateral triangle is 18 cm. Then the height of the equilateral
triangle is

a)3cm b) V3 cm ¢)24/3 cm d)3vV3 cm

@ FWUEE (psbatembaian anmena 18 GF.1f salst FFLLSS

(L HEBHTemIh A6 2 WIJiD

a)3 Q&b b) V3 Glg.if c) V3 Gaif d)3V3 Ggis

A field is in the form of a rhombus. The diagonals of the fields are 100 mand 180
m . Find the cost of leveling it at the rate of Rs.3 per sq.m.

a) 25,000 Rs. b) 27,000 Rs. c) 29,000 Rs. d) 2,70,000 Rs.

@ sULIsOTENE) FMUFAIT sugallst 2 efsng). suusilsi cpemsuail L Ssmeydbss 100
W, 180 18 =ubm suuseuF FwsGlFEIL FHT B LGS 3 alsh @n
ClFsvemay HTsmis . 1

a) 25.000 ¢p b) 27,000 m €) 29,000 @ d) 2,70,000

A shop owner gives one fifth of his profit to his Manager. The Manager gives one
third of the money he received to his assistant. Half of the amount received by
the assistant is Rs. 100. What is the Shap.owner’s profit?

a) 2,000 Rs. b) 3,000 Rs./ c) 4,000 Rs. d) 6,000 Rs.

R SMLESTT Sl WTLHH0 @HHs0 @ Uks HaT Censinse
GanhsaiprT. Gusonenll HMEE S HHS 0 PSS DH UBNS HET

2 _SHellmenhd@E SHHSWIT. . 2_gHailumenr Lubn Gietemauiso urs fnH.100
HEML_GEMTeN suTLID aramsr?

a) 2,000 Bs.| - b) 3,000 Rs. c) 4,000 Rs. d) 6,000 Rs.

If simple interest for a sum of Rs.3,100 for 4 years is Rs. 40 more than the simple
interest of Rs.2,900 for the same duration at the same rate of interest then the
rate of interest is

a) 2% b) 5% c) 8% d) 10%

1.3,100 6@ 4 AELASERSE GOHIUUCL oy alisssH0 amD Sl g
2900 @& 2165 BTuHHHB 2CH Y ABHHHN salHD Sl genl silL
.40 iFiswns o sitangl srefsu il & HIoTaEm)

a) 2% b) 5% c) 8% d) 10%
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